N of reco track vs dxy

tracks

tracks

0996 =15 -0 =5

N of

reco track vs dz

0 5

10 15 20
track dxy (cm)

0 20 30
track dz (cm)

N of associated (recoToSim) tracks vs dxy

true tracks

0.

%)
<
o
Il
=
o
X
8

107

N of associated (recoToSim) looper tracks vs dxy

duplicate tracks

true tracks

29 O |2 v
osf---r . -
=20 -15-10 -5 0 5 10 15 20 —QZO -15-10 -5 0 5 10 15 20 -20 -15-10 -5 0 5
track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
£ M F-- -
() Q
2 &
S10- 8
o
=]
=

Ratio

track dz (cm)

-10 0 10 20 30

-10 0 10 20 30
track dz (cm)

10 15 20
track dxy (cm)

10 20 30
track dz (cm)



	Contents
	Page 1


